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Question 
No Question Text Option 1 Option 2 Option 3 Option 4 

Correct 
Option 

1 

In 

multiprocessing 

environment all 

the threads in 

the process 

share  

Address 

space  Stack Registers  Program Counter option 1 

2 

Naive Bayes 

Algorithm used 

for? 

For better 

reporting the 

decisions 

Classification 

and 

prediction, 

with estimate 

of the 

probability of 

a class value  

To 

implement 

models for 

data-mining  

Both option2) and 

option 3)  option 4 

3 

Which of the 

following UML 

diagrams does 

not have 

dynamic view? 

Collaboratio

n 

Use case State chart Activity option 2 

4 

Rejecting a true 

null hypothesis 

implies  Alpha error Beta error  

Correct 

decision None of the options option 1 

5 

BASE in No-SQL 

stands for  

Basically 

Available 

Soft State and 

Eventually 

Consistent  

Basically 

Available Static  

and Eventually 

consistent  

Basically 

Available Soft 

state and 

Elastic  

Basically available, 

scalable and enabled 

system 

option 1 

option 1 
 


